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( .
( English Version )
Note : 1 Graph Sheets and Statistical tables will be supplied on
request.
1) Pocket calculators may be used. |
i) Al Working‘ steps should be clearly shown.
I. A Answer the following questions : 10x1=10 .

What is the probability of male child when a baby is born ?

I E(X) =5, find E (20 X).

In the following probabihty density function, identify mean and
standard deviation :

3(%59)°
f(X) _\/'"2 .e _

—o <X <00,
While testing 'Whether proportion of smokers in olden days is

equal to the proportion of smokers in modern days, what is null
hypothesis ?

For H , : Mean weight of P.U. C. students is 45 kg.
f | Z |,y = 235 and | A Itab = 258 what is your

conclusion ?

. What is the degrees of freedom for x 2-test of independence of
‘ attributes ? :

Interpret =+ 1.
Deﬁne entering variable in Simplex table.
Deﬁne T.P. ‘

10. How rnany players are participating in a rectangle game ?

B) - Answer any ten of the following questions : - 10x2=20

11.

Define sample space With an example.

12. Mention two types of random variables.

13.

If E(X)=10and E(Y)=5, find E(2X-Y).
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II.

24.

25.

14. Mention the suitable probability distribution’ for the following

15.
16.
17.

18.
19.

20.
21.

On" an average 1 in 50 valves manufactured by a firm is

properties :.

A Mean > Variance
) = Mean = Variance.
Mention any two properties of % -distribution

6

| Define Type I error and Type II error.

The proportion of vegetarians in a city is O- 46 For a random

sample of size 14, what is S.E. (p).

Mention any two conditions for 2-test of goodness of fit.

Given X + Y=5. EXpress this equation as regreSsicn equation of
X on Y and regression equation of Yon X, ‘

Define Basic feasible solution in L.P.P. and T.P.
Define non- degenerate solution in L.P.P. and T.P.

PlagerA -

>

A,

Find optimal strategies for the following game :

Player B
6 12
7 -9

Answer any five of the following questions : "

o’

5x6 =30

23. Four persons A, B, C and D are able to hit a target 8, 4, 7 and
5 times respectively with 10 shots each. If each of them fires once at
the target what is the probability that the target is hit ?

substandard. If valves are supplied in packets of 40 each, in how

many of a lot of 1000 packets would you expect substandard ?

_ Samples of lamps manufactured by two processes are given below :

- Process A Process B
Sample size 100 120°
Average life ( hours ) 1660 1690
S.D. (hours) | 110 94

Test whether the lamps manufactured by two processes are same.



29.

30.
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a) State and prove addition ‘theorem of probability for any two
: events. : -

b)  For the following distribution, find E(x?) and E ( 4X2%+ 1 )_ :

b, -2 -1 0 1 .2
p(X) | 005} 02 | 025 | 04 | 01
a Denve mean of Binomial distribution and P01sson dlstribution

b) Write the formulas for mean and variance of hypergeometric
dlStrlbutlon 5_;' s . b e e i,
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26 A normal variable has variance 46. 12 random: observations of the
~variable has variance 31. At 1% level of significance, test the
hypothesis that the sample variance agrees with that of population.

27. For the following marks of 10 students in Statistics and Eninsh, find
‘Spearman’s rank correlation coefficient and comment on it D

Marks in Statistics | Marks _in,English :
35 | 93
38 ol 84
43 o 82
52 ' 75
61- ‘ . ' 74
69 : 73
.73 . B0
74 N T
" 86 1 s
w0 | s | o
28. Solve the fonovriﬂg L.P.P. graphically
‘Maximise Z = ﬁgﬁ;
T Subjeét to o P——
X+ y S,k 50
X +-2y < 80
snd | x20, y=0.
II. Answer any four of the followmg questlon£ T ~4x10 =40



Code No. 31-0S 8

31.

32.

33.

10 ‘million litres. Each _day the dairy shouldfd
four distribution centres at places W, X, Yand Z. The requirements at.

a) Mention any four properties of norrnal distribution

'b) Heights of soldiers are normally distributed with mean 178 cms

and S.D. 2 cms.

i) Find the probability that a soldier having height more than
181 cm.

i) Find the probability that a soldiers height lies between
174 cm and 180 cm.

Following data indicates the relation of ages ( years ) of husbands and
wives : .

Husband f . Wife

Average ( Years ) - 26 » ' 22
SD.(Years) 8 2

Coefficient of correlation r = 0-9. Find two regression equations.

" Estimate the‘ age of wife when husband's age is 24 years. -

capacities at these plants are respectively 6 million 1 million and
fulfil the requirements at

these centres are 7 million, 5 million, 3 million and 2 milhon litres
respectively. Cost of shipment of milk ( rupees per million litres )
from each plant to various distributlon centres are as belovv

Dealer
W X Y z
* A 2 s | 1 | 7
Plant B | 1 0 6 1
T c 5 | 8 15 9

j  Find a solution by North-West Corner rule and total cost.
i) Find a solution by matrix minima method and total cost.
iy Are these degenerate solutions ? ’

v) In which method is total cost less ? |
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